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27 + 8 + 3   

   
 

The base fact is ___ ones and ___ ones make ten. 

The calculation can be renamed  

 
 

Part whole model 

 

 

9 + 4 + 41   

          

 
 

The base fact is ___ ones and ___ ones make ten. 

The calculation can be renamed  

 
 

Part whole model 

 

 

52 + 7 + 8   

           
 

The base fact is ___ ones and ___ ones make ten. 

The calculation can be renamed  

 

 

Part whole model 

 

 

7 + 34 + 6   

          

 
 

The base fact is ___ ones and ___ ones make ten. 

The calculation can be renamed  

 
 

Part whole model 

 

 

 


